SITEID : ANU (The Australian National University, submission ID: ANU_4)

Experiment ID :ANU_MEDI11_MEDI1ITEST_MEDFull_AutoEAG_p-RunO1_1

Events Processed : E006 (Birthday Party), EOO7 (Changing a vehicle tire), EOO8 (Flash mob gathering),
E009 (Getting a vehicle unstuck), E010 (Grooming an animal), EO11 (Making a sandwich), EO12 (Parade),
EO13 (Parkour), E014 (Repairing an appliance), EO15 (Working on a sewing project)

Scoring Parameters|Cost False Alarm|Cost Miss|Prob. of Target
Value 1 80 0.001

Analysis Report|#Ref| #Sys|#CorDet|#FA|#Miss| Act. PFA| Act. PMiss|Act. NormCost|Min PFA|Min PMiss|Min NormCost|Det. Score

E006| 186|31821 100 323 86| 0.0102 0.4624 0.5899 0.0134 0.4086 0.5756|  0.2741

E007| 111|31821 50f 137 61| 0.0043 0.5495 0.6035|  0.0069 0.4685 0.5551 0.2451

E008| 132|31821 76 62 56/ 0.0020 04242 0.4487| 0.0123 0.2121 0.3658|  0.2918

E009| 95/|31821 43| 87 52| 0.0027 0.5474 0.5816| 0.0090 0.3368 04490  0.2747

E010| 87/31821 18| 97 69| 0.0031 0.7931 0.8313| 0.0111 0.6207 0.7592|  0.2504

EO11| 140|31821 59| 500 81| 0.0158 0.5786 0.7757| 0.0212 0.4929 0.7581 0.2541

E012| 231|31821 26| 14/ 205 0.0004 0.8874 0.8930 0.0233 0.2684 0.5589|  0.2920

EO013| 104|31821 35| 95 69| 0.0030 0.6635 0.7009 0.0130 04231 0.5857|  0.3381

E014| 78|31821 42| 106 36/ 0.0033 04615 0.5032| 0.0079 0.3590 04573|  0.2676

EO015| 81/31821 11f 10 70{  0.0003 0.8642 0.8681| 0.0066 0.6914 0.7740|  0.2852

DET for ANU_4 : ANU_MED11_MED11TEST_MEDFull_RAutoEAG_p-RunBi_1
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